RESOLUTION NUMBER 5230

A RESOLUTION ACCEPTING A BID FOR EAST STREET SIDEWALK PROJECT AND AUTHORIZING THE CITY MANAGER TO TAKE ALL ACTIONS NECESSARY TO SECURE SAID CONSTRUCTION

WHEREAS, Invitation to Bids were invited and publically read on February 13, 2020 at 2:30 PM for East Street Sidewalk Project with five bids received; and

WHEREAS, a copy of the official bid tabulation is marked as Exhibit A and is attached to and incorporated into this Resolution Number 5230 as if written fully therein; and

WHEREAS, recommendation was made in a memorandum dated March 4, 2020 from the City Engineer recommend acceptance of the bid packaged submitted James Paving in the amount of \$483,073, a copy of said memo is marked as Exhibit B and is attached to and incorporated into this Resolution Number 5230 as if written fully therein; and

WHEREAS, the Mayor and the City Council feel it is in the best interest of the public to accept said bid as recommended.

NOW, THEREFORE, BE IT RESOLVED BY THE MAYOR AND CITY COUNCIL AS FOLLOWS:

- 1. The bid submitted by James Paving, is hereby accepted; and
- 2. The City Manager is hereby authorized to take all actions necessary in order to secure said construction; and
- 3. This Resolution number 5230 shall become effective immediately upon adoption and approval.

ADOPTED and APPROVED this the 30th day of March, 2020.

Ashley C. Curry Mayor

ATTESTED BY:

Rebecca Leavings City Clerk



			Triple	J Construction	Gillespie WRONG BID SCHEDULE		CB&A Construction WRONG BID SCHEDULE		Bulls Construction WRONG BID SCHEDULE		James Paving		
Item No.	Item	Unit	Bid Qty	unit price	total	unit price	<u>total</u>	unit_price	total	unit price	total	unit price	total
l	5' Wide Concrete Sidewalk, 4" Thick	SY	1,840	\$ 125.00	\$ 230,000.00								
2	Net Fill Material	CY	478	\$ 18.00		\$ 50.00							
3	24" Concrete Curb and Gutter	LF	535	\$ 45.00		\$ 50.00		\$ 29.86					\$ 21,400.00
4	Concrete Valley Gutter	LF	241	\$ 30.00									\$
5	1' Wide Concrete Flume	LF	10	\$ 30.00							\$ 2,000.00		
5	Concrete Slope-Paved Headwall	EA	2	\$ 800.00		\$ 2,500.00					\$ 5,000.00		
7	Crosswalk Striping (Min. 6' Width)	LF	180	\$ 10.00							\$ 5,400.00 \$ 1,600.00		
8	2' Wide Stop Bar Striping	LF	16	\$ 100.00		\$ 150.00					-		-
9	Blackout Existing Striping	LF	15	\$ 30.00		\$ 70,00					\$ 1,500.00 \$ 13,640.00	1	
10	Concrete/Asphalt Removal	SY	341	\$ 30,00		\$ 35.00					\$ 3,000.00		
11	ADA Accessible Ramp	EA	1	\$ 4,000.00	\$ 4,000.00	\$ 2,500,00							
12	ADA Truncated Dome Warning Tread	EA	8	\$ 500.00		\$ 325.00		\$ 267.41			\$ 4,000.00		
13	Fence Modification	LS	1	\$ 6,000.00		\$ 5,000.00					\$ 3,100.00		
14	12" RCP	LF	31	\$ 40.00							\$ 16,600.00		
15	18" RCP	LF	166	\$ 50.00		\$ 275.00 \$ 2,500.00					\$ 54,000.00		
16	Hooded Drainage Inlet	EA	9	\$ 4,000.00	\$ 36,000,00						\$ 6,000.00		17
17	Junction Box/Storm Manhole	EA	1	\$ 3,000.00		\$ 5,500.00					\$ 3,000.00		\$ 2,500.00
18	Solid Top w/Manhole Ring and Cover	EA	1	\$ 2,000.00							-		
19	Reset Water Meter	EA	14	\$ 1,000.00	\$ 14,000.00			\$ 182.94			\$ 21,000.00		\$ 1,000.00
20	Reset Water Valve Box	EA	1	\$ 300,00									
21	Reset Telephone Box Lid	EA	1	\$ 1,500.00									
22	Reset Telephone Pedestral	EA	1	\$ 3,000.00							\$ 3,500.00		
23	Relocate Mailbox	ĒΑ	10	\$ 200.00	\$ 2,000.00								
24	Relocate Street Sign	EA	7	\$ 200.00	\$ 1,400.00								
25	Solid Sod (Bermuda)	SY	2906	\$ 9.00	\$ 26,154.00								
26	Retaining Wall	LF	133	\$ 200.00	\$ 26,600.00	\$ 450.00				17.1	-		
27	Concrete Driveway Replacement	SY	292	\$ 140.00	\$ 40,880,00	\$ 120.00	\$ 35,040.00						
28	Pedestrian Crossing Sign	EA	3	\$ 250,00	\$ 750.00	\$ 1,850.00							\$ 3,600.00
29	R1-1 Stop Sign	EA	1	\$ 300 00	\$ 300.00	\$ 1,500.00	\$ 1,500.00	\$ 426.82	\$ 426.82	\$ 1,500.00			
30	Relocation of Existing Light Pole	LS	1	\$ 500.00	\$ 500.00	\$ 7,500,00	\$ 7,500.00	\$ 4,042,58	\$ 4,042.58	\$ 5,000.00	\$ 5,000.00		\$ 3,000.00
31	Erosion Control	LS	1	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00	\$ 15,000,00	\$ 21,339.52	\$ 21,339.52	\$ 15,000.00	\$ 15,000.00		
32	Traffic Control	LS	1	\$ 20,000.00	\$ 20,000.00	\$ 10,000,00	\$ 10,000.00	\$ 19,670.48	\$ 19,670.48	\$ 10,000.00	\$ 10,000.00	\$ 7,000.00	\$ 7,000.0
33	Mobilization (Not to Exceed 8% of Contract Amount)	LS	1	\$ 40,000,00	\$ 40,000.00	\$ 48,000.00	\$ 48,000.00	\$ 41,219.03	\$ 41,219.03	\$ 20,000.00	\$ 20,000.00	\$ 5,000.00	
34	Insurance and Contract Bonding (Not-to-Exceed 3% of Contract	LS	1	\$ 8,000.00	\$ 8,000.00	\$ 19,250.00	\$ 19,250.00	\$ 16,330.86	\$ 16,330.86	\$ 12,000.00	\$ 12,000.00	\$ 12,778.00	\$ 12,778.00
	Amount)												
35	Construction Stake-Out	LS	1	\$ 10,000.00	\$ 10,000.00	\$ 18,500.00	\$ 18,500.00	\$ 16,505.32	\$ 16,505.32	\$ 10,000.00		\$ 4,000.00	
36	Tree Removal (ALLOWANCE)	ALL	1		\$ 60,000.00	\$ 60,000.00		\$ 60,000.00			\$ 60,000.00		\$ 60,000.0
	Total Bid Price				\$ 620,813.00		\$ 714,895.00		\$ 560,707.08		S 657,470.00		\$ 483,073.0
	Bid Bond? Contractor's License Number?			Yes X		Yes X		Yes X		Yes X		Yes X	
				Yes X		Yes X		Yes X		Yes X		Yes X	
	Acknowledgement of Addendum 1 and 2?			Yes X		Yes X		Yes X		Yes X		Yes X	

^{*} red numbers indicate recaluculated values or transfer to correct bid form item based on bid document review.



CITY OF VESTAVIA HILLS DEPARTMENT OF PUBLIC SERVICES OFFICE OF CITY ENGINEER INTER-DEPARTMENT MEMO

March 4, 2020

To: Jeff Downes, City Manager

CC: Rebecca Leavings, City Clerk

> Brian Davis, Director of Public Services Lori Beth Kearley, Assistant City Engineer

From: Christopher Brady, City Engineer

RE: Bid Award, East Street Sidewalks

See attached bid summary. After review of bid documents and followup with low bidder, we are recommending award of contract to James Paving in the amount of \$483,073.

This project is funded in the Community Spaces Infrastructure Improvement Projects.

Please let me know if questions,

Sincerely,

-Christopher {::**LIP(.**}